
2 A short story: Money isn’t everything 

Lösung 

b) 1 false • 2 true • 3 not in the text • 4 true • 5 false 

Durchführung 

c) Gemäß SB. 

Lösung 

1 D • 2 A • 3 B 

d)  

Lösung 

1 Tim went into the garden because he thought his parents might be there. 

2 Lisa went into the hall because she wanted to hear the voices from upstairs better. 

3 Lisa thinks Tim’s parents can’t be happy because they are arguing about how they don’t spend 

enough time together. 

4 Tim’s mother doesn’t want to meet Lisa because she comes from the worst part of town. 

e)  

Lösung 

1 I think Lisa feels uncomfortable about meeting Tim’s parents because they have a lot more money 

than her family does. The text says, ‘Tim’s parents had a lot of money, not like Lisa’s parents.’ (ll. 

11–12) 

2 Tim tries to make Lisa feel more relaxed by saying, ‘Don’t be so nervous. They’re only my 

parents’. (ll. 28–29) He also shows her that he’s by her side. The text says, ‘He squeezed her 

hand’. (l. 30) 

3 Although they have a lot of money, they aren’t happy: Tim’s father is at the office all the time and 

Tim’s mother wants to have more time together with him in the family. Tim’s mother says, ‘We 

have a beautiful house, but you spend all your time at the office. What kind of life is this?’ (ll. 75–

77) 

f)  

Lösungsbeispiel 

Variante 1 

Lisa didn’t want to meet Tim’s parents any more. She had heard enough. ‘Tim,’ she said, ‘I really 

like you, but I must tell you something. I don’t live where I told you. I live in a caravan together 

with my mum. I can’t meet your parents. I just want to go back to my mum and our caravan. You 

and I – we’re living in completely different worlds. Bye, Tim.’ She opened the door and walked 

away. 

 


